[image: image1.wmf]A. Stacy made a necklace for 

her doll using 41 white beads 

and 33 yellow beads. How 

many beads does the necklace 

have? 

B. Invitations were sent to 48 

relatives for a family 

get-together. Only 42 

relatives came. How many 

relatives did not come? 

C. Debbie has two dolls. The 

first doll costs $ 5 and the 

second costs $ 6. How many 

dollars do the two dolls cost? 

C. Debbie has two dolls. The 

first doll costs $ 5 and the 

second costs $ 6. How many 

dollars do the two dolls cost? 

D.  Jack empties 4 marbles 

from a small box into a big 

box that already contains 18 

marbles. How many marbles 

are now there in the big box? 

E.   Steve likes toy vehicles. 

He has 3 cabs and 53 trucks. 

How many toy vehicles does 

he have? 

F.   Robert arranges 14 blocks 

in four stacks. He then 

arranges 24 blocks in six 

stacks. How many blocks did 

he arrange in the ten stacks? 

F.   Robert arranges 14 blocks 

in four stacks. He then 

arranges 24 blocks in six 

stacks. How many blocks did 

he arrange in the ten stacks? 

G.  Mrs. Jackson delivered 23 

letters in July , 26 letters in 

August , and 30 letters in 

November. How many letters 

did she deliver in the three 

months? 

H.  Jack played for 9 hours, 

Greg played for 8 hours, and 

Edward played 9 hours more 

than Greg. How many hours 

did they play altogether? 

I . Mr. Jordan will be 38 next 

year. His son is 27 years 

younger than him. How many 

years old is his son at 

present? 

I . Mr. Jordan will be 38 next 

year. His son is 27 years 

younger than him. How many 

years old is his son at 

present? 

J.   A family party has 51 

adults, 13 boys, and 14 girls. 

How many more adults are 

there at the party than 

children? 

K.   For her new kitchen, Mrs. 

Stewart bought a crockery 

set, a cutlery set and a 

pressure cooker. Each item 

cost $31. How many dollars 

did she spend? 

L.  Robert is 11 years old. His 

aunt is 31. How many years 

older than him is his aunt? 

L.  Robert is 11 years old. His 

aunt is 31. How many years 

older than him is his aunt? 


[image: image2.wmf]M.   A board game contains 13 

red coins, 28 yellow coins, and 

5 black coins. How many coins 

are there in all? 

N. Chris and Ryan ate at DQ 

after the game.  They spent 

$10.41 all together.  If Ryan's 

order cost $5.77, how much 

did Chris spend on his meal? 

O.  Mr. Lomax borrowed from 

the library 14 books on 

Tuesday , 8 books on 

Thursday , and 16 books on 

Monday. How many books did 

he borrow altogether? 

O.  Mr. Lomax borrowed from 

the library 14 books on 

Tuesday , 8 books on 

Thursday , and 16 books on 

Monday. How many books did 

he borrow altogether? 

P.  Elizabeth was excited 

about her new corvette.  She 

drove 17 miles in her new car 

on Sunday, 27 miles on 

Monday, and 84 miles on 

Tuesday. How many miles did 

he drive in these three days? 

1. Dad had given you 93 cents 

last week. You spent 7 cents. 

How many cents are left? 

R.  Brian has to repair 56 

cabs. He has repaired 4. How 

many more does he have to 

repair? 

R.  Brian has to repair 56 

cabs. He has repaired 4. How 

many more does he have to 

repair? 

S.   A truck drove under a 

bridge 9 m high. There was a 

gap of 4 m between the top 

of the truck and the bridge. 

How many metres was the 

truck in height? 

T.  Mr. Martin cleaned 13 of 

the 20 buses. How many are 

still to be cleaned? 

U.  There are 3 vans and 30 

cars in a parking lot. How 

many vehicles are there in the 

parking lot? 

U.  There are 3 vans and 30 

cars in a parking lot. How 

many vehicles are there in the 

parking lot? 


[image: image3.wmf]V.   Justin is a mechanic. He 

repaired 46 trucks and 28 

buses last month. How many 

vehicles did he repair 

altogether? 

W.  You step out of your home 

into a long street and turn 

left. The Pet Shop is 91 m 

away, and the Bakery is 44 m 

away from your home. How 

many metres apart are the 

two shops? 

X.  Mrs. Young used 8 gallons 

of fuel last week. She used 5 

gallons this week. How many 

gallons of fuel were consumed 

in the two weeks? 

X.  Mrs. Young used 8 gallons 

of fuel last week. She used 5 

gallons this week. How many 

gallons of fuel were consumed 

in the two weeks? 

Y.  Mrs. Tuck has 5 gallons of 

fuel in her car. Her fuel tank 

has a capacity of 11 gallons. 

How many gallons are needed 

to fill the fuel tank? 

Z. Laurel visited the bakery to 

buy snacks for her class.  Her 

total bill was $25.92.  How 

much did DeAira have to loan 

Laurel if all Laurel had was 

$19? 

aa.   A milk van started with 

83 bottles of milk. It 

delivered 76 bottles. How 

many bottles are still to be 

delivered? 

aa.   A milk van started with 

83 bottles of milk. It 

delivered 76 bottles. How 

many bottles are still to be 

delivered? 

bb.    Mrs.  Lewis drove 117 

miles to attend her daughter's 

beauty pageant.  She found a 

shortcut that saved her time 

on the drive home.  She only 

drove 88 miles home.  How 

many miles did she save by 

taking the shortcut? 

cc.   Britney and Caitlin have 

been competing to see which 

girl can learn more 

multiplication facts by 

Thanksgiving.  Britney has 

learned 87 of her basic facts.  

Caitlin needs to learn 13 facts 

before she has caught up with 

Britney.  How many facts 

does Caitlin know? 

dd.  Justin correctly 

answered 98 multiplication 

facts in just one minute.  

Lance answered 98 facts in 

57 seconds.  How much faster 

is Lance when compared to 

Justin?

dd.  Justin correctly 

answered 98 multiplication 

facts in just one minute.  

Lance answered 98 facts in 

57 seconds.  How much faster 

is Lance when compared to 

Justin?


� EMBED MSWorks.Sheet.4 \s ���





� EMBED MSWorks.Sheet.4 \s ���





� EMBED MSWorks.Sheet.4 \s ���








[image: image4.wmf]A. Stacy made a necklace for 

her doll using 41 white beads 

and 33 yellow beads. How 

many beads does the necklace 

have? 

B. Invitations were sent to 48 

relatives for a family 

get-together. Only 42 

relatives came. How many 

relatives did not come? 

C. Debbie has two dolls. The 

first doll costs $ 5 and the 

second costs $ 6. How many 

dollars do the two dolls cost? 

C. Debbie has two dolls. The 

first doll costs $ 5 and the 

second costs $ 6. How many 

dollars do the two dolls cost? 

D.  Jack empties 4 marbles 

from a small box into a big 

box that already contains 18 

marbles. How many marbles 

are now there in the big box? 

E.   Steve likes toy vehicles. 

He has 3 cabs and 53 trucks. 

How many toy vehicles does 

he have? 

F.   Robert arranges 14 blocks 

in four stacks. He then 

arranges 24 blocks in six 

stacks. How many blocks did 

he arrange in the ten stacks? 

F.   Robert arranges 14 blocks 

in four stacks. He then 

arranges 24 blocks in six 

stacks. How many blocks did 

he arrange in the ten stacks? 

G.  Mrs. Jackson delivered 23 

letters in July , 26 letters in 

August , and 30 letters in 

November. How many letters 

did she deliver in the three 

months? 

H.  Jack played for 9 hours, 

Greg played for 8 hours, and 

Edward played 9 hours more 

than Greg. How many hours 

did they play altogether? 

I . Mr. Jordan will be 38 next 

year. His son is 27 years 

younger than him. How many 

years old is his son at 

present? 

I . Mr. Jordan will be 38 next 

year. His son is 27 years 

younger than him. How many 

years old is his son at 

present? 

J.   A family party has 51 

adults, 13 boys, and 14 girls. 

How many more adults are 

there at the party than 

children? 

K.   For her new kitchen, Mrs. 

Stewart bought a crockery 

set, a cutlery set and a 

pressure cooker. Each item 

cost $31. How many dollars 

did she spend? 

L.  Robert is 11 years old. His 

aunt is 31. How many years 

older than him is his aunt? 

L.  Robert is 11 years old. His 

aunt is 31. How many years 

older than him is his aunt? 

[image: image5.wmf]M.   A board game contains 13 

red coins, 28 yellow coins, and 

5 black coins. How many coins 

are there in all? 

N. Chris and Ryan ate at DQ 

after the game.  They spent 

$10.41 all together.  If Ryan's 

order cost $5.77, how much 

did Chris spend on his meal? 

O.  Mr. Lomax borrowed from 

the library 14 books on 

Tuesday , 8 books on 

Thursday , and 16 books on 

Monday. How many books did 

he borrow altogether? 

O.  Mr. Lomax borrowed from 

the library 14 books on 

Tuesday , 8 books on 

Thursday , and 16 books on 

Monday. How many books did 

he borrow altogether? 

P.  Elizabeth was excited 

about her new corvette.  She 

drove 17 miles in her new car 

on Sunday, 27 miles on 

Monday, and 84 miles on 

Tuesday. How many miles did 

he drive in these three days? 

1. Dad had given you 93 cents 

last week. You spent 7 cents. 

How many cents are left? 

R.  Brian has to repair 56 

cabs. He has repaired 4. How 

many more does he have to 

repair? 

R.  Brian has to repair 56 

cabs. He has repaired 4. How 

many more does he have to 

repair? 

S.   A truck drove under a 

bridge 9 m high. There was a 

gap of 4 m between the top 

of the truck and the bridge. 

How many metres was the 

truck in height? 

T.  Mr. Martin cleaned 13 of 

the 20 buses. How many are 

still to be cleaned? 

U.  There are 3 vans and 30 

cars in a parking lot. How 

many vehicles are there in the 

parking lot? 

U.  There are 3 vans and 30 

cars in a parking lot. How 

many vehicles are there in the 

parking lot? 

[image: image6.wmf]V.   Justin is a mechanic. He 

repaired 46 trucks and 28 

buses last month. How many 

vehicles did he repair 

altogether? 

W.  You step out of your home 

into a long street and turn 

left. The Pet Shop is 91 m 

away, and the Bakery is 44 m 

away from your home. How 

many metres apart are the 

two shops? 

X.  Mrs. Young used 8 gallons 

of fuel last week. She used 5 

gallons this week. How many 

gallons of fuel were consumed 

in the two weeks? 

X.  Mrs. Young used 8 gallons 

of fuel last week. She used 5 

gallons this week. How many 

gallons of fuel were consumed 

in the two weeks? 

Y.  Mrs. Tuck has 5 gallons of 

fuel in her car. Her fuel tank 

has a capacity of 11 gallons. 

How many gallons are needed 

to fill the fuel tank? 

Z. Laurel visited the bakery to 

buy snacks for her class.  Her 

total bill was $25.92.  How 

much did DeAira have to loan 

Laurel if all Laurel had was 

$19? 

aa.   A milk van started with 

83 bottles of milk. It 

delivered 76 bottles. How 

many bottles are still to be 

delivered? 

aa.   A milk van started with 

83 bottles of milk. It 

delivered 76 bottles. How 

many bottles are still to be 

delivered? 

bb.    Mrs.  Lewis drove 117 

miles to attend her daughter's 

beauty pageant.  She found a 

shortcut that saved her time 

on the drive home.  She only 

drove 88 miles home.  How 

many miles did she save by 

taking the shortcut? 

cc.   Britney and Caitlin have 

been competing to see which 

girl can learn more 

multiplication facts by 

Thanksgiving.  Britney has 

learned 87 of her basic facts.  

Caitlin needs to learn 13 facts 

before she has caught up with 

Britney.  How many facts 

does Caitlin know? 

dd.  Justin correctly 

answered 98 multiplication 

facts in just one minute.  

Lance answered 98 facts in 

57 seconds.  How much faster 

is Lance when compared to 

Justin?

dd.  Justin correctly 

answered 98 multiplication 

facts in just one minute.  

Lance answered 98 facts in 

57 seconds.  How much faster 

is Lance when compared to 

Justin?
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